PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

24th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

How many symbols immediately follow a letter in the following sequence? / 9% 3% H H,

e vl U9 § foFd qRa a1g Tw 31ER 872

WATIN@5GB8<+?Q>2*¥H4&KP9?#YS36$EZLR7
e 2
e 3
5
* 4
Correct Answer :-3
2)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms.
Choose the fourth term from the following options which has a similar kind of relation

with the third term. / /9 U4 &, Uga oY 9&f & o< fopelt UpR A Dis Gay g| Fru faweur § ¥ Sar
ue g et TR ug & T1Y St UHR &1 G9Y B

Air : Atmosphere ::Water : ? / gdl: dIdTdR0l :: Golcl: ?
e Island / il
e Earth / Tt
® Ocean / 9%
e Drop /9
Correct Answer :-Ocean / d4x
3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg



A gfheg, siab AR AR R wFsE Fau= e :

If the tree is green then you can see a bird on it or you can rest in the shadow. / ﬂﬁa's'

B 8 d1 31U 39 W U FRIfSyr & 3@ Govd & a1 o171 # fIyH & Iad g

e If the tree is not green then you cannot see a bird on it or you cannot rest in the
shadow. / af¢ Us &1 718l § ) oMU 39 W ux fufsar &) 8t 3 9d § a1 oran ¥ fagmy =3t
T AP g

e If you cannot see a bird on the tree and you cannot rest in the shadow the tree
must not be green. / If¢ 37 U8 W U RAfSUT &1 T8 3@ Iod € 3R 3y o1 § fayra a8f
B AP § dl IS & Tl g

e If you can see a bird on the tree or you cannot rest in the shadow the tree must
not be white. / af¢ 3T 98 R t& RISy @ 3@ THd § a1 3y orar § fayra 78 % 9@ &
1 Us 9g A6l gnmm|

e If the birds are green then you can see the tree. / ¢ fIf$al g8 & 9 sy Us &t 3@
Ig&d Bl

Correct Answer :-If you cannot see a bird on the tree and you cannot rest in the

shadow the tree must not be green. / If¢ 37 98 W U& fAf3ur & T8 3@ I&d € 3R My
o # faymq 78 $ 9Hd ¢ df Us g7 =7 g

4)
Question Stimulus :-

Which bird is considered as the state symbol (Bird) of Madhya Pradesh ? / CaE k) q&ﬂ HHY u%.'\fr & I
udi® (§€) & U § |1 o4t 82

® Asian Paradise Flycatcher / TREE ﬁﬂm tﬁﬂga’_tﬂ', QRIS

® Great Hornbill / Yo Fﬁﬁﬁ

® TIndian Roller / YRAH AeR

® Great Indian Bustard / e E'%TFT TS
Correct Answer :-Asian Paradise Flycatcher / Q'QTCFT ﬁ?‘l‘aﬂ%‘q U?I'I’&‘aﬁl?, QURTS
5)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no
break in between. / T&% $RUR Tole &1 3 Tl § 316 41 81 YAS el A 5 TR &1 Ot TP TR A 1P
[AA 2 AT N SR TN F W R A & A 5 e dAa1 21 Y 3rTeht s A &1 & 20 e Aar 21



ITPT a1 Yag 10 9 Y= BT @ 3R SIUeY 3 T8 WH BT 81 98 39 oI HIg A ¢ Aan

If all houses on 3 streets have to be delivered letter, then at what _til_ne shou.ld. he stgrt sqch
that he finishes off delivering in these streets at 3PM? / fe 3 feral & 9t R ° U Tg’ilﬁ %,
9 39 5T IH SUAT HTH Y= HIAT difieT B 98 gIUs? 3 I9f ab IR U 3 ferd d faaika s 1

e 11.35 AM / 9g9% 11.358%

° 12.40 AM / Jg§% 12.40 ¥
e 12,50 PM / QU 12.50 9
e 1.25PM / QU 1.25 9

Correct Answer :-12.50 PM / 3IUgY 12.50 &ul

6)
Question Stimulus :-

was born in Barwani, Madhya Pradesh and is the former Chairman of the Atomic Energy Commission

of India? / ______ §Sarh, Hed Uy A er §¢ U URA & WUTY SHol STANT & qd Sreaed 82
® R K Sinha / 3R & R8T
* Anil Kakodkar / 3-Te SToIsdH
® Shekar Basu / RGR 919
® HN Sethna / U9 TF JaT
Correct Answer :-Anil Kakodkar / 3 el BTHISH
7)
Question Stimulus :-

Baz Bahadur’s Palace is found in . / dTl delgR dI Hed _ﬁ TTIT AT B

® Ranod/ TIT'ﬁ_d'

® Mandu / 'FI'ITg"

e Sondhani / FFYT
® Sadalpur/ HTgAYY

Correct Answer :-Mandu / HTg

8)



Question Stimulus :-

A team of five is to be selected from amongst five boys (A, B, C, D and E) and four girls
(P, Q, R and S). Some criteria for selection are: / tﬂ'tl?l?;&ﬁ(A B,C,D, 3R E) 3R IR
asfeai(P,Q,R,3MR S) H A U AN &) Th &N &1 TG &1 81 Igq W‘&%:

A and S have to be together. / A 3R s 91y g1 Tfgu|

P cannot be put with R. / P &I R & IIY 8l ¥@T & Y&Hdl|

D and Q cannot go together. / D 3R Q T&h 1Y T8 o1 gPd |

C and E have to be together. / C 3R E U& gl 91y g1 91ieu|
e R cannot be put with B. / R &I B & I1Y4 8l 3@I &1 IHdll

If two of the members have to be boys, the team will consist of / 3R el # ¥ & ?Iga?
g1 T1feg, af 3d 399 frass g9

e ABS,P,Q

e ADSQR

e B,D,SRQ

e CESPQ
Correct Answer :-A,B,S,P,Q
9)
Question Stimulus :-

In which American city did Swami Vivekananda deliver his famous speech at the parliament of religions/ o

! ER H WA faderg 7 oA uRies Wrwor o1« dwig | fear ur?
® New York /=g Aid
® Chicago / FRTT
® California / BfTIf-aT
® Los Angeles / A1 TSIferd
Correct Answer :-Chicago / IR

10)

Question Stimulus :-



Which was the permanent capital of the Hoysalas? / graran &1 th'é Irererit i 3t @2
® Belur/ aﬁ\?
¢ Somnathpur / @TFITQI'ER
® Shravanbeagola / YuIfeTIET
* Halebidu / gAfIS

Correct Answer :-Halebidu / 3A(9S

11)
Question Stimulus :-

Garos are the tribe of ./ MRY SIS _a? %I
® Assam / 3HH
® Manipur /TIﬁTgT
® Mizoram / f¥elRH
® Meghalaya / wuTad
Correct Answer :-Meghalaya / HETed
12)

Question Stimulus :-

The second highest civilian honour in Indiais / HRd i | QT e ARG T %
® Bharat Ratna / HRd ¥d
® Padma Bhushan / UsT Y{UUT
® Padma Vibhushan /Wﬁ‘{q'UT
® Padma Shri/"ﬁ]’%ﬁ
Correct Answer :-Padma Vibhushan / UgI faywor
13)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg

T gfeR b F s IR RTmUwHsE FIu= 3 :



If Akshay plays well then he will win the prize but will loose the contract. / gfe srerd
DT W § a1 98 ST St Afp 3Td 1Y A Fleae Ial AT |

If Akshay does not play well then he will loose the prize but will win the contract.

/ afS 3Mera ST T8 WedT @ dl $TH ISP g14 A TaT AT AfhT 98 PIcae Sild |

e If Akshay wins the prize then he will play to win the contract. / af¢ 31&/d 34T Sitadr
? 1 98 PTIcae Siiaq & forw @am|

e If Akshay does not win the prize or wins the contract then he has not played well.

/ afe 3rera ST AEY SiiadT @ U1 FIeae T8l Siladl 8 af Su 33T Tl War|

e If Akshay wins the prize then Asha will win the contract. / gfe sremg A g‘—ITF[ Sitar at
STRT Picde oitd At

Correct Answer :-If Akshay does not win the prize or wins the contract then he has

not played well. / Tf¢ 31&@ $ATH T8} SiiadT € 9T BI<ac ] SiiadT 8 dl 397 33T 78} Wa|

14)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fase gfQ
it f3e e Sy vd fsnuf & 9 § 98 2

Statements: / SYA:
Some sandals are shoes / $9 dsd \_rjﬁ %

Some shoes are gloves / T3 9d g&M &
Conclusions: / fAp:

I. No glove is sandal / 1.9 & 48d T8l &
II. Some sandals are gloves / I1.$9 dsd Eﬁﬁ %

e Only conclusion I follows / ¥ad forepY I fAwedr &

e Only conclusion II follows / *ad frwpd 11 frpaan %

e Both conclusion I and II follows / 39 fspY I 3k 11 fFpad &

e None of the conclusion I or II follows / f=#d I a1 II & 9 #IS 8 Padr g

Correct Answer :-None of the conclusion I or II follows / fore®d 1 91 11 & @ aﬁé C i
frpaar 8

15)

Question Stimulus :-



This mathematician was famous for very fast calculation skills. / g Tlﬁ'l?lﬁ 3t Gﬁm ¥ A oS 0T
Pia & foe ulrg f/2

e Shakuntala Devi / STpdar adt

® Ramanujan / ITHTISA

® Rina Panigrahi / RG] 17ITRT'JI€1

* SNBose / TH T §19
Correct Answer :-Shakuntala Devi / w adt
16)

Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below
are four drawings of boxes with designs. When folded, which box will it be? / gf&o1 &)
3rpfa faftrs O9et w fewms=t & wry famn 9z fear ve aa feardt 8] -9 fewms= ara 9t & ar
TSN 8] WIts $A W, B T 99T g2

RSN A
RSN A

Correct Answer :

17)

Question Stimulus :-



When and where was the National Library of India inaugurated and opened to public? / Pd 3R WT YRd &
N QRAPIad 1 IguTe BT AT T ST & forg @i mar or

® Mumbai, 1950 / J§%5, 1950

 New Dehli,1951 / 7§ faeell, 1951

* Kolkata,1948 / HIPHIdl, 1948

* Kolkata,1953 / BIAPIdl, 1953
Correct Answer :-Kolkata,1953 / SIAPIdl, 1953
18)

Question Stimulus :-

Who was the first viceroy of India? / HIRd PT UYH m I UT?
® Lord Canning / TS BT
* Lord Elgin / TS TfRM
® Lord John Lawrence /FI'I% S AR
® Lord Hardings / ars FI'%T\‘T

Correct Answer :-Lord Canning /TS BT

19)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an

hour of lunch break. / TH SIfPT B 4 M A SH SN BI R TN A 10 NI AR WASH A §

T e dar g iR Ui fire = & 9 g #a § @rrar 1 @Y 79 AT enTelt s R 91 § @ g

%ﬂggaﬁmﬁqwﬁm%aﬁ?4aﬁmﬁmiw%ﬂﬂa€ 1902 BT GIUgx & HIeH & e w7y aan
|

If he can skip one of the streets, but has to deliver to all houses in other street, what is the
latest he should leave to finish off his work by 4 PM? / f¢ 98 U® el DI 9&dl 8 WX 9P!
3ATelt el H IR R H v fala #vA g, Pt T | a8 v FH IRE $R GHdl @ $I 98 B 4 99 9P
RI IR A2

e 9:30 AM / 4§ 9 9

e 10:30 AM / J4% 10.30 §9

e 11:30 AM / g€ 11.30 99



e 12:30 PM / QIUEY 12.30 99

Correct Answer :-10:30 AM / g§% 10.30 93

20)
Question Stimulus :-

M is taller than S who is shorter than R. V is taller than M. Who is the tallest? / M, S I
a1 g, St fP RA Ble1 8| V, M A TaT 8| JTH & dT B 82

Correct Answer :-V

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 faseu gfQ
Sil 3T T Syl wd el & R d 9 R

Statements: / $Y-:

All tomatoes are vegetables / Tt AR ﬂ%ﬁ?l
Some vegetables are fruits / TS IfSral v gl
Conclusions: / e

I. Some tomatoes are fruits / I. P CHICY Wd gl

II. Some fruits are tomatoes / II.. $© Bd CHICY %'I
® Only conclusion I follows / Fad ey 1 e %
®* Only conclusion II follows / Fad frsey 11 frpadr %
e Both conclusion I and II follows / - fspy 1 3R 11 AP &
e None of the conclusion I or II follows / f=#d I a1 I1 & 9 #IS 8 Paar g

Correct Answer :-None of the conclusion I or II follows / fors#d I a1 1T & ¥ HI5 A8)
Freaar 8



22)
Question Stimulus :-

The play “Meghadutam” was written by / -ITlCh “ﬁ"aga':r” m g1 forar ar o
e Kalidasa / m
® Tulsidas / mm
® Bhasa / HTHI
® Bhairava / WRq

Correct Answer :-Kalidasa / BT erd

23)
Question Stimulus :-

What was the real name of Swami Vivekananda? / ﬂaTFﬁ fadeTeig &1 et ATy ol Y1?

® Vishnu Dutt / ﬁ'ﬂ'uj addr

® Ram Krishna / ITH $YUT

® Adityanath / Gﬂ%?[lFIT Y

® Narendranath Dutta / TR -ITY Qqdr

Correct Answer :-Narendranath Dutta / IR AT Gl

24)
Question Stimulus :-

Which Constitution Amendment Act adds the languages Maithili, Bodo, Dogri and Santhali in the eighth schedule

of the Constitution? / EfuT ® foa srfifraw A Wxne= & 91y ﬁﬁﬁﬁ, aﬁs‘r, SRR 3R TRl ot Afqem=
DI MTEdt L A e foar T ur?

e 85" Amendment Act 2001/ 85a1 HRIEA Srffaw 2001

e 86™ Amendment Act 2002/ 86 aT TR rFUFH 2002
e 871" Amendment Act 2003/ 87 T RN SFUFH 2003
o 92" Amendment Act 2003/ 92 af HRIEH rfUf~rad 2003

Correct Answer :-92"! Amendment Act 2003/ 92 a7 TNeA AR 2003



25)
Question Stimulus :-

A car was moving towards north-east direction. The driver after taking 90 degree left
turn took a road that was at 45 degrees to his left. Which direction the car is heading

now? / T% PR IIR-Td a2 FI 3R M 9¢ I R I-19 7 90 f&Ift I1¢ TRE g1 & I P 5@
ot S Ft 45 F&h ) I9F il SR 71w fezm & w) o9 T w@T B2

® North / W

e South / gf&mr

e East / qa‘

e West / uf3H
Correct Answer :-South / cf&ur
26)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Frafafea uy ¥ e arde w0 & ) 3 e ¥ 3R IS 916 - fau e fawe A | g99 Iuge
3THH BT AYT
1. Honey 2. Flower 3. Bee 4. Wax
1. 7E¢ 2. B 3. AYUSE!l 4. €IH
e 1,3,4,2
e 2,1,4,3
e 2,3,1,4
°* 4,321
Correct Answer :-2,3,1,4
27)
Question Stimulus :-
When is Civil Services Day celebrated in India? / HIRd ¥ Rifae Jar1 feaw w9 v=rar sirar 82

e 215t August / 21 9 SRTE

o 215 April / 21 &f 38



o 15t April/ 15 Y 3«

o 15™ August/ 15 df e
Correct Answer :-21% April / 21 g 0@
28)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / /9 uy H, 9 veg fod
T g, o & fi= foedt yoR & 9ure § iR STt U ST B| ST aren 9T i |

® Teacher / JHAUD
e Principal / Y=Y
e Student / B
® Professor / MHIR
Correct Answer :-Student / S

29)

Question Stimulus :-

Which district of Madhya Pradesh has both Indian Institute of Technology (IIT) and Indian Institute of

Management (IIM)?/ A0 U= & fp o & HRTa urenfie | (1) 8k HRAT yae T4 (11m)
3 82

® Jabalpur/ STTAYR
* Gwalior/ TTIRIR

 Bhopal / HIUTA
® Indore / EaT

Correct Answer :-Indore / $aI¥

30)

Question Stimulus :-

What is the type of erosion that occurs in the rivers in Madhya Pradesh which removes the top layer of the soil

forming deep channels called?/ﬁ?ﬁumﬂm%\_rﬁqw maﬁmﬁﬁﬁ@ﬁ‘m@mﬁmm
FI § SHPT HUI WX FeTdT 32



® Stratified Erosion / Flﬂ@_d Pcld

® Gully Erosion / ATelt Perd

® Sheet Erosion /dgR dcld

® Ravines / ATd
Correct Answer :-Gully Erosion / ATl ®eld
31)

Question Stimulus :-

‘Tree’ is related to ‘sapling’ in the same way as ‘woman’ is related to / ﬂg LEIRG

‘qreger ¥ St TR @ 3 o ave afeer WEilta § e
e Off-spring / Jd=
* Father / fi@r
* Girl / dSHI
* Flower / @

Correct Answer :-Girl / TS®!

32)
Question Stimulus :-

If Monday means a lousy day, and it's a lousy day today, then it's Monday. / gfe JHarR
®1 Haad 9gd TR fo 8, 3R 31T 9gd &4 faA g, o) 98 JHaR 2|

e True / Tgl

e False / TTdd

e May be / 8 IPdT1 &

e Irrelevant / UTHRI®
Correct Answer :-May be / 8 I&dl &
33)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faeeg
g, ab st R IR REwFE FIu= 2 -



If Dolly works hard then she can get ‘A’ grade / df¢ Sielt A8 HXdl 8 @ 98 A’ IS UT G&dl &

e If Dolly does not work hard then she can get 'C’ grade. / gfe srent ﬁm EEKCZGI %?ﬁ
98 'C’ Is UT gt 2

e If Dolly gets ‘A’ grade then she must have worked hard. / gfg stell & A’ A5 firan %,

dl IR A5 3t grf

e If Dolly does not get ‘A’ grade then she must not have worked hard. / af¢ sidt &I

‘A’ I 81 firan 8, @Y 399 Aed A8l @ gnft
e Dolly wish to get ‘A’ grade. / Zﬁ?ﬂﬂﬁ%@%‘A")‘éqﬁTl

Correct Answer :-If Dolly does not get ‘A’ grade then she must not have worked hard.

/ afe Sielt &1 A’ U5 T8 firenm 8, 9 ST Agd T8 &I grft|

34)
Question Stimulus :-

1.Eleven students A,B,C,D,E,F,G,H,I,]J and K are sitting in the first row of thq class .facin_g
the teacher. / ™R8 ®H A,B,C,D,E,F,G,H,I,] 3R K Rie/e &1 3R g T gu wam # ugdl ufeq & 98
gl

2. D is to the immediate left of F is second to the right of C. / F & st 3R A RG] AMRCFH
a1t R | gEWRI D B

3. A is second to the right of E, who is at one of the ends. / E & gIfg-il 3R | GWRT A 8, DI
Sfon R A 4 o 21

4. ] is the immediate neighbour of A and B and third to the left of G. / A 3R B & 3d TS &
IRGF It RIAARIIT |

5. H is to the immediate left of D and third to the right of I. /D & arit 3R A d’d 3R I & qIf-it
3R § FRRTH B

If E and D, C and B, A and H and K and F interchange theira%\(y)sitions, which of the
following pairs of students are sitting at the end? / 3R E D, C 3R B, A MR HRKSRF
P WF 9¢d fau o €, 9 Ay & #1901 o 91 SiEt oid & RR W 93

e DandF
e EandF
e DandK

e KandF

Correct Answer :-D and K



35)
Question Stimulus :-

Which one of the following major sea ports is without a natural harbour? / frafafea yqy9 Fﬂ_s;pf Sl 4 |
DI AT foAT WIpfas deme & 82

® Mumbai / ga's‘

® Paradeep / IR

® Marmagao / qRId

® Visakhapatnam / ICEUECINS L]
Correct Answer :-Paradeep / URTGIT
36)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faser gt
it f3E e Sy ud frshuf & 9 § 9 2

Statements: / ®Y-:

All triangles are angles. / 9} & Hivr g1

No angle is a line./ Hﬁ? Wﬁﬂﬁ%l

Conclusions: / fAw:

I. Some angles are triangles. / I. $& ST AHi0r §
II. Some lines are triangles. / II. Wﬁ'@l’lﬁ'ﬁﬂﬁw %'I

e Only conclusion I follows / &4 fasey I fAwedr @

e Only conclusion II follows / *ad ey 11 fraan %

e Both conclusion I and II follows / aT-ﬁ frepd 1 3k 11 e %

e None of the conclusion I or II follows / e rarIId 9 Eﬁ's: qﬁﬁﬁ?ﬂ %

Correct Answer :-Only conclusion I follows / *ad fareed 1 fAeadr %

37)

Question Stimulus :-



Who was the last non-Indian to have been awarded the Bharat Ratna?/ HIRd Id J WA T ?ﬁ ard 3TRad
R-HURET BT A2

* Lord Mountbatten/ ATS HISCdcH
® Mother Teresa/ HGY CEE: ||

® Khan Abdul Ghaffar Khan/ €T 3egel THPY WTH

® Nelson Mandela/ aﬁF‘l 'FI%?IT

Correct Answer :-Nelson Mandela/ A8 Hadl

38)

Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E Urd aﬂ'ﬁﬁm g % :
1. A, B and C are in Indore and Bhopal. / A, B 3R C E?I'\'QH Q-ﬁ'ﬂ'l?[ﬁ%l

2. A, B and E are in Indore and Gwalior / A, B AR E é‘cﬁ?@@ﬁ'ﬂ?ﬁ?l

3. B, C and D are in Raipur and Bhopal. / B, C 3R D J0QR Td Hiud A 1

4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W@Wﬁ?l

5. C,E and D are in Raipur and Jabalpur / C, E 3fR D IJAYR T4 WEaqR H |

Branch of which bank is in Raipur and Indore but NOT in Bhopal? / fra 3@ aﬁmw 3R
EER # 8 IR Hiura # 812

Correct Answer :-E

39)
Question Stimulus :-

The Constitution (One Hundredth Amendment) Act provides for exchange of territories between India and

./ Afaer (ar e rfufraa 3R HIRd & &1 &= BT ITSn BT gl
° Nepal/ﬁw



® China /4

® Bhutan / HcI1
® Bangladesh / m

Correct Answer :-Bangladesh / SITATGRT

40)
Question Stimulus :-

Who is the first former Chief Justice of the Supreme Court to be appointed as the Governor of a State? / '\Tﬂ'ﬂ'

I ¥ Uga Ud H©I AT $1 8, ot fpeft Isw & Irsuure & w0 A Prged 63 e E
* P Sathasivam / U HYTRIaw
® JSVerma /3 TF gl
® VN Khare / & §7 &R
® R C Lahoti / 3 3t gt

Correct Answer :-P Sathasivam / W Furfiaw

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ i M IR vl § € R & T ud & S wuH 91 W T T8 52

Honeywell-Measurex
Sun-Keisei Building
4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(i) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome



Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(ii) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(iii) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi I-chome

Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(iv) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan



Correct Answer :-iii

2)
Question Stimulus :-

If TELEVISION is coded as VELETISION, how is SUBSTITUTION coded? / afg
TELEVISION &I VELETISION ¥ $If$d faT STaT 8, f SUBSTITUTION &1 & Sifsd foar Srar

8?

e SUBSTINOITUT

e SUBITSTUTION

e ITSBUSTUTION

e ITSBUSNOITUT
Correct Answer :-ITSBUSTUTION
3)

Question Stimulus :-
In a certain code language, tama sama lama means very nice friend, seme sama sooma
means nice and sweet, and teks tama tuna means very hard surface. Which is the word for
lama in that code language? / foddt @ sy ﬁ, polo folo zolo T Hddd % sun pulls earth,
zolo solo bolo &1 Hddd % earth is round 3R solo sula soka ®1 Addd % what is this | I FIs
Ut ® bolo & T #T Wt 82

® nice

® sweet

® hard

® friend
Correct Answer :-friend
4)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1A & 7S e e Td TBISH BT AHH WA B 8| TAd WAl UgHid|

(i) ZY23Q5BQ9



(ii) ZY23Q5BQ9
(iii) ZY2305BQ9
(iv) ZY23Q5BQ9

® j

® i
® v
Correct Answer :-iii
5)
Question Stimulus :-
Reduce to simple fraction? / &d fUd & agFpa sif?

). £
[1_‘—E+:]x E
. 4

21

| on

—
[ ]

[ on

—
[ )

o

Correct Answer :-1 :

[ 3%

6)
Question Stimulus :-

A shoe company sold 50 pairs of shoes costing Rs. 189.50 each for Rs. 10,000.What is the profit? / U
SIAT HUAT 7 10,000 TUA & 50 SS! od 99 fU, TH WS S 189.50 TUY Ht AR A §4 31 ATYH fopan



gaM?
* Rs.625/625 %0
* Rs.525/525 %0
e Rs. 425/425%00
* Rs.325/325%W
Correct Answer :-Rs. 525 / 525 304
7)

Question Stimulus :-

436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of B? / 436A X 232 = 10B2D80 EI?T
A, B, D TP HEII® g, a1 B BT A T gIIN?

Correct Answer :-1

8)
Question Stimulus :-

A publisher gives his distributor a discount of 30% on the printed price of the books. The distributor
sells these books to a bookseller at 20% discount on the printed price & the bookseller sells these

books at the marked price. Calculate the profit percentage made by the distributor? / Tdh YhIR[P 3=
e & el & gied I R 30% 3t ge aa1 21 faare 51 faral @) e fadar @ gisd @ ®
20% fE&wrTde ¥ d9ar § 3R q&e fashar gfsa #iaa W 57 fraral @ s9ar 31 faave gr1 a=mar
T gfa=Ia & 32

® 152/7%

°* 142/7%

°® 132/7%

* 122/7%

Correct Answer :-14 2/7%



9)
Question Stimulus :-

In a certain code language, wela sela tela means hot water bath, jela wela nela means cold
rain water, and nela nala pala means heavy rain fall. Which is the word for jela in that code
language? / &3 @ Fs YT #, wela sela tela &1 HAAd & hot water bath, jela wela nela 1
Hddd % cold rain water 3R nela nala pala &1 Hddd % heavy rain fall | I P ywT | Jjela &

forg «am wreq 82
® cold
® water
® hot
® fall
Correct Answer :-cold
10)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IRL] GI'IT&{ P g9 & o
a9 g1 B¢ fea- At va@rsi #) srazawar g

® 18

® 16

® 10

® 15
Correct Answer :-10
11)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong



term. / 9 Uy ¥, I@IT 41 A T US Ted 8| Tod UG JId Biford|

5,9,17,30,45
® 30

* 45

® 17

Correct Answer :-30

12)
Question Stimulus :-

If Rs. 2800 is the 2/7 percent of cost of a house, then the value of the house is / Ife 2800
IUY, U OR B! ANTd BT 2/ 7 Ufawd 8, @) @R B} $IAd grit

Correct Answer :-9

13)
Question Stimulus :-

A man can do a job in 14 days. His father can do the same work in 7 days and his son will take 21 days to complete
the same. How long will it take to complete the same work, if three of them are working together? / Tdh

fpelt wr # 14 oA & o3 G@ar 31 3T far St &9 o1 7 fo § % gd § ok Sud T &1 3
PTH B @d9 B § 21 e &1 g9 a1 afe & = fire $7 39 318 A Fd &, 9 I FH B
WdH B A I8 fpa-r g9y Thm?

9 9

e 3 lgays/3 11 29

(-
(-



1
e 3 3days/3

Lad | =

f&

9 Q
Correct Answer :-3 ldays /3 !l fR9

14)
Question Stimulus :-
Complete the series choosing the missing number: / AW WS TIHT 4T S T HIIT :
2,5,8 ,14,17

¢ 9

* 10

* 12

* 11
Correct Answer :-11
15)
Question Stimulus :-

The simplified form of x2 X (x5 =x%) is / x2 X (x5 *x%) ST Wd U ¢

Correct Answer :-x3

16)
Question Stimulus :-

A train covers a distance of 10km in 12 minutes, If its speed is decreased by 10 km / h then the time taken to cover the

same distance will belwa?lzﬁ_*lfﬁ 10%3%;&@@%,@%@3%11% 10%=ﬂfziaﬁmmzﬂ
ST 1 a1 & g 79 B ° I/ qHI

e 18min/ 18 fiAT



* 14min/14 AT
* 15min/ 15 fAe
® 16 min/ 16 f¥AC

Correct Answer :-15 min /15 fiFe

17)
Question Stimulus :-

In throwing of a dice, what is the probability of getting 4? / & U TP 91 B MY T
TYTGAT 8 BT 4 3M3?

® 5/6

° 2/3

° 1/6

° 1/3
Correct Answer :-1/6
18)

Question Stimulus :-

Find the value of 4P3 / 4P3 &1 HH A1

Correct Answer :-4

19)
Question Stimulus :-

In the sequence shown below, which figure comes next? / o fRwr & wu °, snTeft Gﬂw
S A giir?



Correct Answer :-
Question Stimulus :-

What percent of a day is 5 hrs? / T ﬁq P 5 He fopar ufa=e %?

20)

e 20: %
5

e 20:%

® 20%

1
* 20%%

5
Correct Answer :-20 ¢ %

21)



Question Stimulus :-
In a certain code, TRIPPLE is written as SQHOOKD, how is ‘PEOPLE’ written in that
code? / fodfl @I HIE A, TRIPPLE & SQHOOKD fer@r Srar 8, df 39 #I1€ § ‘PEOPLE’ & 34
forar wmam?

e ODBOMD

e ODPOKD

e ODNOKD

e OFNOKD

Correct Answer :-ODNOKD

22)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ'ﬁ &R AP SR Bl T ﬂﬂﬁt{ tcab_a_c_bc_bc
_b_ab

® bcbbab

® bcbbbc

® acacab

® cbhaaac
Correct Answer :-cbaaac
23)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ &R AP Sdr T aﬂﬁxm taa_aaa_aaaa_

aaaa_b
® baaa
® bbaa
® bbbb

® bbba

Correct Answer :-bbba



24)
Question Stimulus :-
Complete the series choosing the missing number: / AW JWAT FAHR 9TAT BT TR HIFOT :
1,4,9, 25,36,

® 16

® 15

® 20

® 14
Correct Answer :-16
25)

Question Stimulus :-

The average of first five primes numbers is / gl uTe 31 B3 BT i &

® 5.8
® 6.0
® 5.6

Correct Answer :-5.6

26)
Question Stimulus :-

A crosses a bridge at a speed of 5 km/h in 12 minutes. What is the length of the bridge? / A, Ud Jd & 5 fopHi/e

3t 7fa F 12 fire & R w=ar1 81 YA & da1s fhan 32
e 100 m / 100 H
* 900 m/90Ht
* 750m /750 Ht

e 1250 m/ 1250 HY

Correct Answer :-100 m / 100 #t



27)

Question Stimulus :-

[ s
b | e

The third proportional value of 5 = and 8 is / 5 = 3R 8 &1 JIRT 3 UIfA® UM &

e 9

Correct Answer :-9

28)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of a total of 12 is / a s WHTQI%TI'EI T FHTGAT %
AT BT e 12 3ATT?

® 1/18
* 1/12
® 1/9
® 1/36
Correct Answer :-1/36

29)

Question Stimulus :-

In a certain code language, forak klol loak means tie the knot, klol seda fema means the
sharp knife, and loak goak woak means blue neck tie. Which is the word for forak in that
code language? / &t @Y ®Is YT §, forak klol loak %1 Hadd ¢ tie the knot, klol seda fema
BT Hddd % the sharp knife 3T loak goak woak T Hddd % blue neck tie | I PIs T H forak

F fre |7 T 22
® fie
® [knife

® fknot



® sharp
Correct Answer :-knot
30)

Question Stimulus :-

5-7+41-17+20+8 = ?
® 60
® 40
® 50
® 70
Correct Answer :-50

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The process of breakdown of rocks by the action of wind, water and sunlight is termed as, / &dI, Tt \?rﬁ?' '\‘I&W’QT

I HIATs A gl & g B Ufhal B Fed © -
® Erosion / UG
® Weathering / S{U&IUI
® Cracking / IE®H-I
® Pollution / WGUUT

Correct Answer :-Weathering / 3U&™UT

2)
Question Stimulus :-

The train of the future-Maglev Train runs on a section of track near Tokyo, Japan .It gets lifted a few centimeters above

the track while running. This is due to / Wﬁw%-ﬁa%wﬁﬂﬁ%m%%wmw
Tad] 81 I & IR 98 ¢F § PO AU SW IS ATl 81 SHPT BRI 8

® Frictional Force / uyur 9

® Mechanical Force / gif® 9d



® Magnetic Force / ﬂiﬁﬁ'q 9

® Electrostatic Force / fRR %gu?r 9
Correct Answer :-Magnetic Force / ﬂiﬁﬂ'q 9d
3)

Question Stimulus :-

If a number is divided by 5, remainder is 1. If the same number is divided by 2, remainder is 0. Then the last digit

of the number is / afe ue w@I &1 5 A faurfea far sirar 8, W9 1 ure grar 21 afe
It T= &Y 2§ faurferd frar 9iTe, 2y 0 Ui giar 1 99 39 6.1 &7 SifaH 3 &

Correct Answer :-6

4)
Question Stimulus :-

If A and B are acute angles, cos A = cos B implies that / gfe A Td B thlﬁ'lﬂ%,
cosA=cosB?:b‘r?|1?CRf% |

« A=B
« A=B

® A+B=90°

Correct Answer :-A =B

5)
Question Stimulus :-

The area of a rectangle with length ‘I’ and width ‘b’ is /TP 3TId IELEA] ?Iﬁl'l'&; @ 3R ?ﬁ'e'.'l'sc ‘b’ %,
ST &AGd §

® 2(1+b)



® 12*1*b

® 1*p

® I+b
Correct Answer :-1%b
6)

Question Stimulus :-

A plastic comb rubbed against dry hair attracts bits of paper due to / TP R P HH w CIGIR:| T"I@ﬁ' &
q1G BT & gHS| Bl AP el 8, THPT PRV @ :

® Gravitational force / W’q q9d
® Electrostatic force / fRR agtﬁl' qd
® Muscular force / u=h 7a

® Magnetic force / WW

Correct Answer :-Electrostatic force / RR %gua dd

7)
Question Stimulus :-

Choose the statement that is wrong / 3 DY BT I a%i%m S Terd %

® Percolation rate of water is different in different types of soil / Tt & 3fawaul ot & fafid uer #t
gerait ¥ fafi gt 8

® Percolation is highest in sandy soil / 3I/THJUT PR ag's‘ Hal ¥ 99 TS gidt %
® Percolation damages plant roots / 3TTHAUT el @ \_rl??f P WG BT %

® Percolation is least in clayey soil / 3/ HJUHY HaT | gddH gt 3
Correct Answer :-Percolation damages plant roots / 3TdHdUT el @ TSl B W Bl ?
8)

Question Stimulus :-

Which of the following numbers is divisible by 9? / frafafea # 9 P9 H T@=1 9 A fauTsy %?

® 19725462



® 36870521
® 51372185
® 639918272
Correct Answer :-19725462
9)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: / < fe€ 7T 1% &t ¢
3R forg weif &1 IR ¢ -

Wheat Allotment to Maharashtra in '000 tons

@ Allotment m0 ftake

50
&
70
60
30
40
30
20 1
10 1

Jan Feb Mar Apr Way Jun Jul Aug Sep Oct MNWov Dec
2001

What is the difference between the maximum and the minjmum offtake of wheat by
Maharashtra during 2001 (in ‘000 tons)? / ¥ 2001 & 3R AF & 3ifUHay R AW Fd TG
H 3 @ g2 (e H)

e 16.2

e 329

* 26.81

° 34.7

Correct Answer :-34.7

10)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: /<19 f€ ¢ ITw &t ¢



3N e uel &1 IR € -

Wheat Allotment to Maharashtra in '000 tons

O Allotment mO ftake

a0
&l
70
60
30
40 1
30
20
10

Jan Feb MWar Apr May Jun Jul Aug Sep Oct MNov Dec
2001

During January to December 2001 in which of the following months was the wheat .
offtake of Maharashtra better than previous month? /593 A feamR 2001 FRAAH A A

b1 wEtHl # weRTY #1 1§ $1 Fo WS fUod 98 I =St 4t
e February, April, June, August, December / BRasY, 3M0d, T, 3, fedaR
e March, June, August, December / ATd, 5, 374, fedaR
e February, April, August, September / BIa31, 3rid, 3R, R
e March, May, July, November / 9T, 65, J[@Tg, 48R

Correct Answer :-February, April, June, August, December / BIas], 3I'aﬂ, -, 3T, fedaR

11)
Question Stimulus :-

A, B and C enter into partnership. A invests some money at the beginning, B invests double the amount after 6 months
and C invests thrice the amount after 8 months. If the annual profit be Rs. 27000, C share is: / A,B Qﬁ ok | U
AR ¥ waw ferar| A 7 gwema # oo A1 o= #31, 6 wE uyTq B A 39 i1 31 gy A foan
T4 8 UEH UyTq C A 39 A F1 forqen f~awn fovam 1 afe arffe @y 27000 =T § @ € &1 3w 3:

® Rs. 10800

® Rs. 11250

® Rs. 9000

® Rs. 8625

Correct Answer :-Rs. 9000



12)
Question Stimulus :-

The branch of science that deals with the study of micro-organisms is called / ﬁ?ﬂ‘l’ CARUECIRT] ﬁ&ﬂ\_rﬁﬁ &
AT | AU 3

® Genetics / Gﬂﬂaﬁlﬁ

® Microbiology / ﬁ&ﬁaﬁﬁ

® Paleontology / Wmﬂ
* Entomology / ®lefdqTH

Correct Answer :-Microbiology / {[&nﬁﬁaﬁ

13)
Question Stimulus :-

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle which touches the

smaller circle. / &Y TPbfsa ga et Beurd wa=r: 5 It 9 3 A @ at Shfqa $t 39 shtar 3t awrs 319
P oIt aY ga B Tt HRd! B

e 3cm /39

* 4cm /4T

* 5cm /59

e 8cm/8Hl
Correct Answer :-8 cm /8 dHl
14)

Question Stimulus :-

Heating milk to 70 degree Celsius and suddenly chilling it is / g4 &t 70 & A
% TH 1 & 915 o9 I AFS A gaRiiaT B 391 91 df I8 T Hgd 82

® Preservation / TRT&UT

* Pasteurization / RGBT

® Packing / H$dd

® Pulverization / §dd



Correct Answer :-Pasteurization / TRAIGUT

15)
Question Stimulus :-

Which of the following pairs of angles are supplementary? / e H I S A BN BT g W %?
® 36° 54°
® 35°65°
® 399 111°
® 45°135°
Correct Answer :-45° 135°
16)
Question Stimulus :-

The area of a circle is 301.84 cm?. Then its radius is ./ qd Pl &F%d 301.84 AHI2 g1 99 sa®!
fremr e

° 4.6cm/4.6ﬁ1:ﬁ
e 9.8cm/9.8 W
e 9.2cm/9.2qH
® 9.4cm/9.49H

Correct Answer :-9.8 cm /9.8 9}

17)
Question Stimulus :-

Top soil in the A horizon is generally dark in colour because / A afos o Sud Hal 9THT 4 CEUE: RIS

gt © Fife
® It is the topmost layer /g Tdis IRd &
® It contains all the waste materials / E'R‘I'ﬁ It oy tl?{ﬂf iﬁﬂ' %I
® ]t is rich in humus and minerals /ﬁ'ﬁ: eRU1 Gﬁ?' Eﬁﬁ[ Gm ﬁ?ﬂ %

® It contains water / dg SI¢l I@dl %



Correct Answer :-It is rich in humus and minerals /E'Hﬁ tRUT 3R @i 3ifis ?IT‘IT %

18)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: /<19 f€ ¢ ITw &t ¢
AR AU BT IR G -

Wheat Allotment to Maharashtra in '000 tons

O Allotment mO ftake

90
&l
70
60
30 1
40 1
30
20
10

Jan Feb MWar Apr May Jun Jul Aug Sep Oct MNov Dec
2001

In terms of percentage during which month in 2001 was the whgat offtake of
Maharashtra compared to the allotment the highest? / ufad & deH # aff 2001 & f5g 7

& R TERIY & g B $d WG, 3Tded ot goT | S=ad 9
e April / 3@
e June /A
e August / 3Rd

® October / 3fdga¥

Correct Answer :-August / ST

19)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: / < fe€ 7T 1% &t ¢
3R g weif &1 IR ¢ -



Wheat Allotment to Maharashtra in '000 tons

||:|Allutment m0 ftake |

90
&l
7l
60
30 1
40
30
20
10 1

Jan Feb MWar Apr May Jun Jul Aug Sep Oct MNov Dec
2001

What was the total wheat offtake by Mahara‘lvshtra during the entire year of 2001 (in
'000 tons)? /2001 & Q¥ 9§ & GRTH HERTY RT g &t Pa @i 1 o2 (2 H)

* 740.2
e 571.8
* 603.8
®* 648.5
Correct Answer :-648.5

20)
Question Stimulus :-

The rate at which a sum becomes four times of itself in 15 years at S.I., will be: / dg8 oY, forad R gremror sare
W 15 quf & WY & =GR T 8 A g, 2

® 15%
® 20%
® 25%
® 17.5%

Correct Answer :-20%

21)

Question Stimulus :-



Ball bearings used in automobile wheels & conveyor belts converts / HieTI$dl & qfgdl T
Harg® Ugl § WART &t A arell st 9aRT ufkafda st 8:

® Sliding friction into rolling friction / Tuf gvur & dee gt A
® Rolling friction into sliding friction / S gyur & 9uf gyt #
® Static friction into rolling friction / @ﬁﬁ? gfur ) See gyur §
® Sliding friction to static friction / ﬁmfur G| '\‘ﬂﬁﬁ? ﬂ'ﬁfUT s |
Correct Answer :-sliding friction into rolling friction / Tuf adur &Y Seer gfor A

22)

Question Stimulus :-

Evaluate log ,axlog, bxlog ,c [ log ,axlog, bxlog ,c &1 919 8N

® Abc

® a+b+c
Correct Answer :-1
23)

Question Stimulus :-

The white light is split inot seven colours by a / 49 YT 919 3N A fanfora é‘]’cﬁ% Wa? gRT &
® Mirror / GUUI

Lens / @9

Prism / fUsq

Glass / I

Correct Answer :-Prism / fsH

24)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: /= ﬁt{ MY T P o



3N e uel &1 IR € -

Wheat Allotment to Maharashtra in '000 tons

O Allotment mO ftake

a0
&l
70
60
30
40 1
30
20
10

Jan Feb MWar Apr May Jun Jul Aug Sep Oct MNov Dec
2001

Starting from January which quarter had the lowest percentage of offtake as compared

to the allotment? / SHaI & UR™ T4 W frd foawmgl § smded 9t a1 § od Tig &1 ufa=d
GAdH 712

e January-March / S9a8) A=

® April-June /Gl'aﬁ\‘rfr

e July-September / JaTs faw@R

e October-December / 3agaR feamr

Correct Answer :-January-March / S9a3} a=f

25)
Question Stimulus :-

Underground water reservoirs are called / Eﬁ"ﬁ ofd QE' B T ﬁﬂ' %
® rocks /U
® aquifers / STCTHRY
® roots / \_II%
e AandB /Gl A 3R B

Correct Answer :-aquifers / STAHY

26)



Question Stimulus :-

MCB are switches which / MCB a3 gId & ot f& :
® Completes the circuit / ¥y & T P8
® Supplies current / ﬁ'gfﬁ[ UIRT B \’vl'l"]ﬁ'f P8
® (Controls the switch / g = e #d %

® Automatically turn off when current in a circuit exceeds safe limit / WgaIferd Y ﬁ 33' E?f iG] % oid

uftay & fagae uRT gRa&m T & of¥re gt @

Correct Answer :-Automatically turn off when current in a circuit exceeds safe limit / WaTed U 9

d¢ g1 9Td § o9 ufvuy ® fagaq o1 gRem e F ot gidl @

27)
Question Stimulus :-

The movement of cool air from the land towards the sea during night is called / d & IRH

o} TG BT 3R 3} 591 BT ARG BT o
® Air currents / g YaTg
® Convection current / Hag— PI URT
® Land breeze / Y WHR
® Seabreeze / UK GHIY

Correct Answer :-Land breeze / 48 JHIX

28)
Question Stimulus :-

Biogas is produced from waste water with the help of / 99 1 &1 fAufor YwRw war gRT fHwat
gl | g1 @

® Anaerobic bacteria / 3argdarg \_rﬂaTl'{[

® Aerobic bacteria / ATIATT \_rna'l'Uj

® Aerobic and anaerobic bacteria / ATAATT TF SATIAI \_rﬁﬂTU:[
® Fungus / PdP

Correct Answer :-Anaerobic bacteria / 3[ATIATT SHQTY]



29)
Question Stimulus :-

Name the smaller parts of an organ of a plant / animal / Tﬁ?}/ ug[ & 3 & DI YR BT A %
o Organism/ﬁﬁa
® Tissues / S ddh
° 0rgane||es/3viTI37
° CeIIs/ﬂﬁw
Correct Answer :-Tissues / SdP
30)

Question Stimulus :-

The transfer of pollen grains from the anther to the stigma of the flower is called / Y & AT HI I I A
TRTTHUN BT TITATR Dedldl %

® Ppollination / URTITUT

® Fertilization / O

® Zygote formation / YIHAS fomtor

® Development of embryo / YUT &I fawra

Correct Answer :-Fertilization / fFI9=_



